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5P e e i |
19.0 8.0 6.0 5.0 7.0 29.0 16,6
21.0 T1.0 5.0 6.0 9.0 25.0 15.8
30 T400] (0 7200 2500] 236,
+) ) ) ) ) -] - |
= X = -[_<0.0003 —|_<0.0003 <0000 <0000 <0.0003]
= X = —[_<0.00005 —[__<0.00005 <0. 00005 __<0. 00005] __<0. 00003
= . 001 .00 = = .00 = 001 <0.00 <0.00 001
= . N X = - .00 = <0.001 <0.00 <0.00 007
= . X X = = .00 = .00 <0.00 <0.00 .00
= . X X = = 00! = <0.005] <0. 00! <0.005 005
= .00 N X = - 001 = 001 <0.001 <0.001 001
0.85 0.98 0.79 073 0.7 0.92 091 1.15 128 1.02 1.28 0.70 0.92
= <0.08 <0.08] = <0.08 = - <0.08 = <0@| <0.08 <0.08] <0.08
1 = <0.02 <0.02 = 0.02 = = <0.02 = <0.02 0.02 <0.02 <0.02
ng 000214 F| —[__<0.0002 <0.0002 —|__<0.0002 = -[<0.0002 —|_<0.0002] <0.0002] __<0.0002[ __<0.0002
ng = <0.005 005 = <0.005 = - 005 = < A0ﬁ| <0.005 <0.005, 005|
ng = <0.004 004 = 004 = = 004 = 004 <0.004 <0.004 004]
ng = <0.002 002 = <0.002 = - 002 = <0.002] <0.002 <0.002, 002
ng = <0.001 001 = 001 = - 001 - 001 <0.001 <0.001 001
ng - <0.003[ . 003 - <0.003 - - . 003 - <0.003 <0.003 <0.003’ 003]
ng = <0.001 . 001 = 001 = = 001 = .00 <0.001 <0.001 001
mg, - - -] - - - - - - - - -]
mg, - - -] - - - - - - - - -] -]
mg - - - - - - - - - - - - -
mg, - - -] - - - - - - - - = -]
mg, - - - - - - - - - - - - -|
ng = - - = = = - - = - - - -
mg, - - -] - - - - - - - - -] -]
glfJZoo mg, = = = = = = = = - - = = -
[ZeESZ00Xz> g, - - - - - - - - - - - - -
[FoERLL ng = = - = = = = = = - - = -
FIVLTIVTEF mg - - -] - - - - - - -~ - -] -|
E ng = <0. <0.01 = <0.01 = - <001 = <0.01 0. <001 <0.01
HIE=IN ng 02F - X .05 — .05 — - .02 - .2§| X 02 . 09)
ng 0.3L( 0.07 X . 0.04 11 X 03 09
ng 1L(F] = - <0.01] 0. 0.0 0.01
ng 200007 = = .3 . x|
ng 0,051 0.024 0,015 0,040 0,04 0.01 0,025
mg/ 200 F 8.2 10.6 XJ 10. 2. .9
ng 300X = - 4.1 2. 14 21.0
mg 500117 - - 57
ng 0. 25T = = 0.0
ng 000001 <0.000001 2] _<0.000001
mg/ 0.00001L | <0.000001 <0.00000 <0.000001 <0.000001]__<0. 000001
ng 0.02 - <0.002 - <0.002 <0.002 = = <0.002
ng 00054 F| - <0.0005 - <0.0005 = X - <0.0005 - <0.0005 —[__<0.0005
ng 3F] 0.9 0.8 1.0 0.8 T1 1.2 16 1.1 1.0 1.1 13 1.4
5 8LLES. 610 6.9 6.9 6.9 6.9 6.0 6.9 6.9 6.9 6.9 6.8 6.9 6.9
BETHLC - — — - - - - — — — — -
EETHLCE TTRE TERR TR TERE TRE I3 LY 1LY 1LY & TEER TR
E ST 4 [3 7 4 4 [ 4 3 3
I 20 F] 11 2. 2.3 1.0 10 0. 1.0 0.8 0.7 0. 0.8 23
ng 00155 - 0.00 - - - 000 - - - 0,00 = = X
mg/ 0. 002L(F| —[_<0.000. - - - <0.0002 = = - <0.0002 = - <0.0002]__<0.0002]_<0.0002]
mg 001X = <0.00 - - = <0.001 = - - <0.001 = = <0.001 <0.001 0.001
mg/ 0. 05L(F| = <0.00 = - = <0.005 = - = 0,014 = - 0.014 <0.005 0,005
ng 0. 00411 F| =[__<0.000. - - —|__<0.0004 = - —|__<0.0004 = - <0.0004] __<0.0004] __<0.0004]
ng 210 = 0.0 - - = €0.02 = - - €0.02 = - <0.02 <0.02 €0.02
mg/ T = <0.0 = - = <0.01 = = = <0.01 = - <0.01 <0.01 <0.01
mg, - - - - - - - - - - - - - - -]
mg/ i -] - - - -] -] -] - - - - -] -] - -
ng 0. 015(F| = B B - = = = B B B = - - - -
mg, 0.0 - - - -] - - - - - - - - = = -
mg/ e -] - - - -] -] -] - - - - - - -
ng TOL{ L1001 = T8 - 201 = 2. = 20,7 - yER = T 2.7 4.1 71 q
mg/ 0. 01&“ 0.024 0.031 0.023 0.024 0.027 0.033 0.029 0.015 0.025 0.014 0.015 0.040] 0.040 0.014 0.025
7 ng 201 = - - - = — = - - - - - - - |
B, 1-F 70018y ng 0.3L( = <o£| - - = <0.03 = - - <0.03 = <003 <0, <003
B[ XFIV-t-7 F)LT—7JU (IBE) ng 0.02L(F| - <0.002 = - = <0.002 = = = <0.002 = - <0.002 <0.002. <0.002
B|EEmE ) ma/ 3_}1:1_» - - - - - - - - - - - - - - |
mg. - - - - - - - - - - - el - b el
m 30 F200 F = 3§| - 71 = 87 = 95 - 95 = 57 95 38] ﬁ"
i 1L T1 2.7 7.3 1.0 1.0 0.9 1.0 0.8 0.7 0.5 0.8 7.3 2.7 0.5 13"
7. 51| 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.8 6.9 6.9 6.9 6.8 6.9)
ma/ 1 STy = = = = = - - = = = - = p p =
B mT 2000L(F| = - - - = = = - - - - - = - B
ma/T 0. 1L(F = <001 = - = 0.0 = - = 0.01 = = 0.0 <001 0.01
ma/[ 01T - 6] - 0.05 - .0 = 0.03 - 0.02 - 0.20] .2 .02 . 09)
mg/T 001 05 0.02 0,01 0.0 0 0.04 0.01 0.04] 0.06 012 0.02] T <0.01 N
us/cm 92.1 2.0 88.0 86. 1 85.0 107 103.7 103.8 95.0 703.8 101.5 64.9 107 54,9 2.0)
kq
o)
it
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TERE -3 TEEE EhE TERE TERE i TEE TR i
T 15. 22.0 19.0 20.0 25.0 .0 15.0 8.0 6.0 5.0 7.0
K 16. 17.0 17.0 25.0 24.0 .0 14.0 T1.0 5.0 6.0 9.0
g 0001 0,000, - - - - - 00002 - 00002 - - = 0
ng 0. 003X <0.0000 = = = = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 <0. 0000: - - - = = <0. 00002 - <0. 00002 - = - <0.
ng . 0025 —[__<0.0001 = - —|__<0.0001 = - —[__<0.0001 = -
ng .o_ﬁos 5 00000 - = = = = 0000 = 00001 - = =
ng . 005 <0.0000 - - - = = . 0000 - 00002 - = =
ng . 003L <0.0000 = = = = = 0000 = 0000 = = -
mq, 0.35(F| <0. 0000 - - - = = 0000 - . 0000 - = =
ng 0. 055! <0.0000 - = - = = . 0000 - 0000 = = -
s ng 0. 05L <0.0000 = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% <0.0000 - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 <0.0000 - - - = = 0000 - 0000 - = =
07z (CNP mg. 0. 0001 F 0. 000 - - - = = 0. 000 - 0. 000 - = -
ng 0.0005% <0.000 - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L <0.0000 = = = = —[_<0.0000" = 0000 = = -
ng 0.004% <0.0000 - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng 0. 03% <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001L <0.00003 = = - = =[__<0.00003 =[_<0.00003 = = = <0.
mg 0. 003% <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng oﬁz > 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LLF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055 F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0.
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <.
ng 0. 2L( | <0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - <0,
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X
ng 0. 05L K| <0. 0000 - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. . <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X X
mg/ 0. 009L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
~ 3 mg/ 0 1L(F|<0.0000 = = - = = . 0000 = . 0000 = = -
NP2 SER) ng 0. 08I <0.0000 - - - = = . 0000 - . 0000 - - -
RO T A AR ng 010 F|_<0.0000 - - - = = . 0000 - 0000 - - -
e[ X T 701 7 (MCPP) ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
SIXFIVEI Lo ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
EFZ o0 mg/ 0. 01LLF|<0.00002 = = - = = 00002 = 00002 = = -
BV NI NAQ ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
1,||17471/T7\(1/ T175%, EDDP) ___ma/ 0. 0065 T <0.00005 - - - - - 00005 - . 0000 - - -
[H=ET=p7 ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = . 0000 - . 0000 - = -
II)Ozft / |~ mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
,,," L75 ng 0.04 <0.0000 B B - = = . 0000 B . 0000 B = -
4\/7’1:173;1/7<M|P0 ng/ 0. 01L(F|[_<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v ng 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tﬂ‘mp mg/ 0. 0045 <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
ng/ 01F 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(F | <0. 0000 - - - = —[_<0.0000' —[_<0.0000 - - -
ng . 01L( <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mg/ 08 F <0.00 - - - - - <0.00 - <0.00 - - -
ng . 01L( | <0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051 <0.0000 - - - = = _<0.0000" —[_<0.0000" - = -
57y mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
S5 (00 ng 0. 0211 <0.000 B B - = = 0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 095X ng 0. 0BL( || <0.00005 B = - = —[__<0.00005 —_<0.00005 = = -
27X (IPP) mg 0.0011¢ <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TURT—F mg/ 20T [ <0.000 - - - = = 0. 000 - 0,000 - - -
EEPA(Giz ) ng 0511 <0.0000 B B - = = 0000 B 0000 B - -
VIl ng 030 <0.0000 - - - = = 0000 - 0000 - = -
ng . 02L( | <0.00002 = = - = = 00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0.000004 —[<0. 000004 - - - K
ng _03L( | <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 0031 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 0. 0211 <0.0000 B B - = = . 0000 B 0000 B = -
nq 0. 004L(F[_<0.0000: - - - - - . 00004 - 00004 - - -
ng 0.055 0.000 = = - = = 0.000 = 0.000 = = -
TATOAILT ng [OES <0.000 - - - = —[_<0.000 - 0,000 - = -
EEIN=Z mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
EII /TR ng 0.2 <0.000 B B - = = 0.000 B 0.000 B = -
NY RO XFIV nq 0. 4L{F|__<0.0000 - - - - —[_<0.0000 - 0000 - - - <0. 00001
FIS 5590 ng 0. 0BL( || _<0. 000002 = = - = —[_<0. 000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 002X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
FEFIL ng 2LL <0.02 = = - = = <0.02 = 0,02 = = - <0.02
FUA—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng 0. 03L( F||_<0. 000002 B B - = —|_<0. 000002 —[<0.000002 B - - <0. 00000;
7-7J'~/NI/7 ng 008X <0.00005 - - - = = __<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 0. 000 = = - = = 0.0002 = 0. 0002 = = - 0. 0002
DaE=02 ng 031 <0.0000 - - - = = . 00002 - 00002 - - - . 00002
ZDWISE WL mg 0,311 <0.0000 - - - = = 0000 - 0000 - - - <0.0000°
FUTNS U ng 00611 <0.0000 B B - = = . 0000 B 0000 B - - 0000
F7VARO-L ng 0. 0081 0000 - - - = = 0000 - 0000 - = - 00001
24700 ng 0. 0005LT | <0.00000 - - - = —[<0.00000 —[<0.00000" - = = <0. 000005




TR 9 B -

[ 200970511 [ 2009712701 [ 2010701712 | 2010702701 [ 2010703701 E & EE R |
B Es TR i e 5 i |
22.0 25.0 20.0 8.0 6.0 6.0 7.0 29.0 16,6
17.0 24.0 20.0 T1.0 5.0 6.0 9.0 25.0 15.7]
T100] 7200 T700] 750 7000 2200] T
()| G ] ) +) +) ) ) - - |
- <0.0003 -[—_<0.0003 = = -[_<0.0003 —|_<0.0003 <0000 <0000 <0.0003]
= __<0.00005 —[_<0.00005 = = —[_<0.00005 —[__<0.00005 <0. 00005 __<0. 00005] __<0. 00003
= <0.00 = 001 = .00 = X = .00 = 001 <0.00 <0.00 001
= <0.00 - .00 = <0.00 = X - .00 = <0.001 <0.00 <0.00 007
= <0.00 = 001 = .00 = X = .00 = .00 <0.00 <0.00 .00
= <0.00 - 005 = <0.00 = X - 00! = <0.005] <0.00 <0.005, 005
= <0.00 - 001 = .00 = X - 001 = 001 <0.001 <0.001 001
0.70 0.90 079 0.71 0.64 0.5 0.83 0.66 0.78] 0.92 1.00 0.88 1.00 0.57 0.78
= <0.08 - <0..08] = <0.08 = <0. 08] - <0.08 - <0.08 <0.08] <0.08] <0.08
1 = <0.02 = <0.02 = <0.02 = <0.02 = <0.02 = <0.02 <0.02 <0.02 <0.02
ng 0. 0025 F| - <0.0002 -[<v.0002 —|_<0.0002 - _<0.0002 -[<0.0002 —|_<0.0002] <0.0002] __<0.0002[ __<0.0002
ng = <0.005 = 005 = <0.005 = 005 = 005 = < A0ﬁ| <0.005 <0.005, 005|
ng = <0.004] = 004 = 004 = 004 = 004 = 004 <0.004 <0.004 004]
ng = <0.002 - 002 = <0.002 = 002 - 002 = <0.002[ <0.002 <0.002, 002
ng = <0001 - 001 = 001 = 001 - 001 - 001 <0.001 <0.001 001
ng = <0.003] = . 003 = <0.003 = 003 - 003 = <0.003 <0.003 <0.003, 003]
ng = <0.001 = . 001 = 001 = . 001 = 001 = .00 <0.001 <0.001 001
mg, - - - -] - - - - - - - - -
mg, - - - -] - - - - - - - - -] -]
mg - - - - - - - - - - - - - -
mg, - - - -] - - - - - - - - = -]
mg, - - - - - - - - - - - - - -|
ng = - - - = = = - - = - - - -
mg, - - - -] - - - - - - - - -] -]
glfJZoo mg, = = = = = = = = = - - = = -
[ZeESZ00Xz> g, - - - - - - - - - - - - - -
[FoERLL ng = = = - = = = = = = - - = -
FILLTILTEF g, - - - - - - - - - - - - - -
E ng = <0 - <0.01 = <001 = - 0. = <0.01 0. 0. <0.01
FIVE=SL mg, 0214 | - . - . 06 - .05 - - . - .20] A A .09
ng 03I 0.07 014 “08] 0.09 .09 0.09 0.04 .1 X X . 09)
ng 1L(F] = < - 0.0 = <0.01 = - 0.0 0. K< 0.01
ng 200007 = - = 7.4 = = X 8. .5
ng 0. 05L 0.022 0.02 0,022 0.02 0.029 0,033 0.026 0,010 0.01 X 2
mg/ 200 F 7.9 5.7 7. 6. 10.1
ng 3001 = 1 - i = 71. = = T
ng 5001, - 6 - 7 = 8 = - 50
ng 0.2 F = = 002
ng 0.00001 <0.000001 T <0.000001
mg/ 0.00001X | <0.000001 1] <0.000001 <0.00000 <0.000001 1]_<0.000001
ng 0.02 = <0.002 - X = = <0.002
ng 0. 005L(F] - <0.0005 - <0.0005 = - <0.0005 - <0.0005 —[__<0.0005
ng 3T 0.8 0.8 0.9 0.8 T1 1.2 16 1.1 1.0 1.1 13 1.4
5 8LLES. 610 6.9 6.8 6.9 6.9 6.0 6.9 6.9 6.9 6.9 6.9 6.9 6.9
BETHLC - — — - - - - — — — — -
BETELCE TR TR TRE TR TR I3 LY 1LY TR & TEER LY
E ST 4 7 4 4 6 4 4 3 5!
E 2L/ 1.0 2. 22 10 10 Q. 0.9 0.6 0.7 0. 0.6 23
ng 00155 = 0,00 - - = 000 = - - 0,00 = =
mg/ 0. 002L(F| - <0.000; = - - <0.0002 = = - <0.0002 = -
mg 001X = <0.00 - - = <0.001 = - - <0.001 - -
mg/ 0. 05L(F| = <0.00 = - = <0.005 = - = 0011 = -
ng 0. 004L(F| —[__<0.000: B - —|_<0.0004 = B - _<0.0004 = -
ng .21 = <0.0 - - = €0.02 = - - <0.02 = -
mg/ T = <0.0 = - = <0.01 = = = <0.01 = -
mg, - - - - - - - - - - - -
mg/ i -] - - - -] -] -] - - - - -]
ng 0. 015(F| = B B - = = = B B B = -
mg, 0.0 - - - -] - - - - - - - -
mg/ e -] - - - -] =] -] - - - - -
ng TOL{ L1001 = 8.2 - 18.2 = 71 = 71.9 - 71,6 = 2.8
mg/ 0. 01&“ 0.022 0.027 0.022 0.024 0.029 0.033 0.026 0.016 0.021 0.013 0.010 0.016
7 ng 20/ F = - - - = — - - - - - -
B, 1-F 70018y ng 030 = 0,03 - - = 0,03 = - - <003 = -
X FD-t-7 FILT—7 U _(IBE) ng 0.02L(F| = <0.002 = - = <0.002 = = = <0.002 = -
B|EEmE ) ma/ g_tz“ - - - - - - - - - - - - - - |
mg. - - - - - - - - - = - - - = =
m 30 F200 F = 61 - 71 = 81 - 95 - 9 - 50 99 50 77
i 15 1.0 2.4 7.7 1.0 1.0 0.8 0.9 0.6 0.7 0.4 0.6 7.3 2.4 0.4 1.2
7. 51| 6.9 6.8 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.8 6.9]
ma/ 1 STy = = = = = - - - = = - = p p =
B mT 2000L(F| = - - - = = = - - - - - = - B
ma/T 0.1F = <001 = - = 0.0 - - - <007 = = 001 <001 0.01
na/1 01T = 015 - 0.06 = 0 = 0.04 - 0.02 = 020 .20 0.0 . 09)
mg/T 0.04 0.03] 0.02 0,01 0.0 0 0.05 0.01 0.04] 0.04 0.07 0.02] .07 <0.01 N
us/cn 88.3 69.5 79.9 80.4 78.0 7. 96.2 96.9 86.5 96.6 95.6 60.7 7.4 60.7 5. 5|
kq
o)
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200070413 [ 200705, 111 (200070771 [ 20007727011 2010/01/12 [ 2010702701 T 2010703701 T =
FERE -3 BEEE EhE TERE TERE i TEE TR i
T 14 22.0 18.0 20.0 25.0 .0 75.0 8.0 6.0 6.0 7.0
K 15, 17.0 17.0 24.0 24.0 .0 15.0 T1.0 5.0 6.0 9.0
g 0001 0,000, - - - - - 0. - 00002 - - = 0
ng 0. 003X <0.0000 = = = = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 <0. 0000: - - - = = <0. 00002 - <0. 00002 - = - <0.
ng . 0025 —[__<0.0001 = - —|__<0.0001 = - —[__<0.0001 = -
ng .o_ﬁos 5 00000 - = = = = 0000 = 00001 - = =
ng . 005 <0.0000 - - - = = . 0000 - 00002 - = =
ng . 003L <0.0000 = = = = = 0000 = 0000 = = -
mq, 0.35(F| <0. 0000 - - - = = 0000 - . 0000 - = =
ng 0. 055! <0.0000 - = - = = . 0000 - 0000 = = -
s ng 0. 05L <0.0000 = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% <0.0000 - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 <0.0000 - - - = = 0000 - 0000 - = =
07z (CNP mg. 0. 0001 F 0. 000 - - - = = 0. 000 - 0. 000 - = -
ng 0.0005% <0.000 - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L <0.0000 = = = = —[_<0.0000" = 0000 = = -
ng 0.004% <0.0000 - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng 0. 03% <0.00001 = = = = = . 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = . 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001L <0.00003 = = - = =[__<0.00003 =[_<0.00003 = = = <0.
mg 0. 003% <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng oﬁz > 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LLF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055 F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L K| <0. 0000 - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. . <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 0. 009L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
~ 3 mg/ 0 1L(F|<0.0000 = = - = = . 0000 = . 0000 = = -
NP2 SER) ng 0. 08I <0.0000 - - - = = . 0000 - . 0000 - - -
RO T A AR ng 010 F|_<0.0000 - - - = = . 0000 - 0000 - - -
e[ X T 701 7 (MCPP) ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
SIXFIVEI Lo ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
EFZ o0 mg/ 0. 01LLF|<0.00002 = = - = = 00002 = 00002 = = -
BV NI NAQ ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
1,||17471/T2(1/ T175%, EDDP) ___ma/ 0. 0065 T <0.00005 - - - - - 00005 - . 0000 - - -
[H=ET=p7 ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = . 0000 - . 0000 - = -
II)Ozft / |~ mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
,,," L75 ng 0.04 <0.0000 B B - = = . 0000 B . 0000 B = -
4\/7’1:173;1/7<M|P0 ng/ 0. 01L(F|[_<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v ng 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%t/(_mp mg/ 0. 0045 <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
ng/ 01F 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(F | <0. 0000 - - - = —[_<0.0000' —[_<0.0000 - - -
ng . 01L( <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mg/ 08 F <0.00 - - - - - <0.00 - <0.00 - - -
ng . 01L( | <0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051 <0.0000 - - - = = _<0.0000" —[_<0.0000" - = -
57y mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
S5 (00 ng 0. 0211 <0.000 B B - = = 0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 095X ng 0. 0BL( || <0.00005 B = - = —[__<0.00005 —_<0.00005 = = -
27X (IPP) mg 0.0011¢ <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TURT—F mg/ 20T [ <0.000 - - - = = 0. 000 - 0,000 - - -
EEPA(Giz ) ng 0511 <0.0000 B B - = = 0000 B 0000 B - -
VIl ng 030 <0.0000 - - - = = 0000 - 0000 - = -
ng . 02L( | <0.00002 = = - = = 00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0.000004 —[<0. 000004 - - - K
ng _03L( | <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 0031 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 0. 0211 <0.0000 B B - = = . 0000 B 0000 B = -
nq 0. 004L(F[_<0.0000: - - - - - . 00004 - 00004 - - -
ng 0.055 0.000 = = - = = 0.000 = 0.000 = = -
TATOAILT ng [OES <0.000 - - - = —[_<0.000 - 0,000 - = -
EEIN=Z mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
EII /TR ng 0.2 <0.000 B B - = = 0.000 B 0.000 B = -
NY RO XFIV nq 0. 4L{F|__<0.0000 - - - - —[_<0.0000 - 0000 - - - <0. 00001
FIS 5590 ng 0. 0BL( || _<0. 000002 = = - = —[_<0. 000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 002X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
FEFIL ng 2LL <0.02 = = - = = <0.02 = 0,02 = = - <0.02
FUA—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng 0. 03L( F||_<0. 000002 B B - = —|_<0. 000002 —[<0.000002 B - - <0. 00000;
7-7J'~/NI/7 ng 008X <0.00005 - - - = = __<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 0. 000 = = - = = 0.0002 = 0. 0002 = = - 0. 0002
DaE=02 ng 031 <0.0000 - - - = = . 00002 - 00002 - - - . 00002
ZDWISE WL mg 0,311 <0.0000 - - - = = 0000 - 0000 - - - <0.0000°
FUTNS U ng 00611 <0.0000 B B - = = . 0000 B 0000 B - - 0000
F7VARO-L ng 0. 0081 0000 - - - = = 0000 - 0000 - = - 00001
24700 ng 0. 0005LT | <0.00000 - - - = —[<0.00000 —[<0.00000" - = = <0. 000005




MIER . FR2ERE
RTER9 Kk S

[ 2009712701 [ 2010701712 | 2010702701 [ 2010703701 2 & EE R |
TERE = BEEE EhE TERE TR TERE i TEE TR e
5 21.0 20.0 20.0 21.0 20.0 14.0 8.0 6.0 6 8. 29.0 6.0 16.8
15, 17.0 19.0 23.0 25.0 2.0 17.0 14.0 5.0 9. i 25.0 5.0 16.8
1_'% 5 7 5 7 T S T 26 T
= Q (O] =) ©) © (O] (O] ©) =) [© + -] - |
- <0.0003 -[—_<0.0003 - <0.0003 —|_<0.000. -[<0.0003 - <0.0003 <0000 <0000 <0.0003]
= __<0.00005 —[_<0.00005 = __<0.00005 = __<0.0000 —[_<0.00005 —[__<0.00005 <0. 00005 __<0. 00005] __<0. 00003
= <0.00 = 001 = .00 = .00 = .00 = 001 <0.00 <0.00 001
= <0.00 - .00 = <0.00 = .00 - .00 = <0.001 <0.00 <0.00 007
= <0.00 = 001 = .00 = .00 = .00 = .00 <0.00 <0.00 .00
= <0.00 - 005 = <0.00 = 00! - 00! = <0.005] <0.00 <0.005, 005
= <0.00 - 001 = .00 = 001 - 001 = 001 <0.001 <0.001 001
128 0.86 .31 1.33 134 1.6 159 T.31 132 1.70 2.08 1.74 2.08 0.86 1. 46)
= <o.@| - <0.08] = <0.08 = <0. 08] - <0.08 = <0%| <0.08 <0.08] <0.08
1 = <0.02 = <0.02 = 0.02 = <0.02 = 0.02 = <0.02 0.02 <0.02 <0.02
ng 0. 0025 F| - <0.0002 -[<v.0002 - <0.0002 - _<0.0002 -[<0.0002 —|_<0.0002] <0.0002] __<0.0002[ __<0.0002
ng = <0.005 = 005 = <0.005 = 005 = 005 = < A)ﬁ' <0.005 <0.005, 005|
ng = <0.004] = 004 = 004 = 004 = 004 = 004 <0.004 <0.004 004]
ng = <0.002 - 002 = <0.002 = 002 - 002 = <0.002[ <0.002 <0.002, 002
ng = <0001 - 001 = 001 = 001 - 001 - 001 <0.001 <0.001 001
ng = <0.003] = . 003 = <0.003 = 003 - 003 = <0.003 <0.003 <0.003, 003]
ng = <0.001 = . 001 = 001 = . 001 = 001 = .00 <0.001 <0.001 001
mg, - - - -] - - - - - - - - -
mg, - - - -] - - - - - - - -
mg - - - - - - - - - - - -
mg, - - - -] - - - - - - - -
mg, - - - - - - - - - - - -
ng = - - - = = = - - - = -
mg, - - - -] - - - - - - - -
glfJZoo mg, = = = = = = = = = = - -
FEEZ700X%2> mg, -] - - - -] -] -] - - - - -]
[FoERLL ng = = = - = = = = = = = -
FIVLTIVTEF mg - - - -] - - - - - - - -~
E mg, - < - <0.01 - - - . - <0.01
ST ng 02F = < = <0.02 = 3 = K< = 0. = <0.02
ng 03I <001 < <001 <0.0 <001 < <001 < <001 <0. <001 <0.01
ng 15 = < - 0.0 = < = - X - <0.01
ng 200007 = 6. = 1.0
ng 0,055 <0.005 <0005 <0.005|
mg/ 200 F 8.6 1.3 6.3
ng 3001 = - 21.0
ng S00LLF = - 82
ng 0.2 F = = <002
ng 0.00001 <0.000001 T <0.000001
mg/ 0.00001X | <0.000001 1] 00001]_<0.000001
ng 0.02 = <0.002 - <0.002 = 02 = <0.002
ng 0. 005L(F] - <0.0005 - <0.0005 = - <0.0005 - —[__<0.0005
ng 3 0.4 0.7 0.7 0.6 0.6 0.8 0.6 0.6 0.7 1.3
5 8LLES. 610 6.2 6.2 6.1 6.4 6.2 6.2 6.2 6.0 6.2 6.3
BE LT - - - - - - - - - =
EETHLCE L] = 1] =R R R R L] L] ER
E ST 1 1 1 1 1 1 1 1 2
E 2L/ 01 0. 01 Q0.1 01 0.1 0.1 0.1 01 0. Q01 Q01
ng 00155 = 0,00 - - = 0,001 = - - 000 = =
mg/ 0. 002L(F| - <0.000; = - - <0.0002 = = - <0.0002 = -
mg 001X = <0.00 - - = <0.001 = - - 0.001 - -
mg/ 0. 05L(F| = <0.00 = - = <0.005 = - = 0,005 = -
ng 0. 004L(F| —[__<0.000: B - —|_<0.0004 = B - _<0.0004 = -
ng 281 = <0.0 - - = €0.02 = - - <0.02 = -
mg/ T = <0.0 = - = <0.01 = = = <0.01 = -
mg, - - - - - - - - - - - - - - -
mg/ i -] - - - -] -] -] - - - - -] -] - -
ng 0. 015(F| = B B - = = = B B B = - - - -
mg, 0.0 - - - -] - - - - - - - - = = -
mg/ e -] - - - -] -] -] - - - - - - - =
ng TOLLET00M, = 3.7 - 262 = 30, = 20, - 3.6 - 21.0 3 71.0 2
mg/ 0. 01& T <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0005 <0.005 <0005 <0.005 <0005 <0.005] <0.005 <0.005, <0.005]
7 ng 20/ F = - - - = = = - - - - - ~ - |
B, 1-FJ 70018y ng 0300 = <0.03] - - = 0,03 = - - <003 = - <003 <003 <003
X FD-t-7 FILT—7 U _(NBE) ng 0.02L(F| = <0.002 = - = <0.002 = = = <0.002 = - <0.002 <0.002. <0.002
B|EEE ) ma/ g_tz“ - - - - - - - - - - - - - - |
mg - - - - - - - - - - - - = = -|
m MD(TZOOQ(" - 74 = 86 = 109 = 128 = 135 = 82 135 74 102,
i 15 01 <0.1 01 0.1 01 0.1 01 0.1 01 Q0.1 01 Q.1 0.1 0.1 0.1
7. 51| 6.2 6.2 6.1 6.4 6.2 6.2 6.2 6.2 6.0 6.2 6.2 6.3 6.4 6.0 6.2
ma/ 1 STy = = = = - = = = — = = = p - -
B mT 2000L(F| = - - - = = = - - - - - = - -
ma/T 0.1F = <001 = - = <001 = - = 0.01 = = <001 <0.01 0.01
na/1 01T = <0.02 - 0.0 = <0.02 = 0,02 - 0.02 = 0,02 <0.02 <0.02 <0.02
mg/T 001 N 0.01 <0.01 001 <0.01] ___<0.01 0.01 0.03 001 0071 <0.01 .03 <0.01 <0.01]
us/cn 115.1 5.3 T15.8 113.1 112.0 146.4 136.4 160.2 126.0 155.5 161.7 113.7 T61.7 5.3 128.4)
kq
o)
it
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TMIER O . THIEE
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FOREHE 200070413 [ 200705, 111 (200070771 [ 20007727011 2010/01/12 [ 2010702701 T 2010703701 T =
X& TERE -3 BEEE EhE TERE TERE i TEE TR e
p:) T 15. 21.0 20.0 20.0 21.0 .0 14.0 8.0 6.0 6.0 .0
K “C 15, 17.0 19.0 23.0 25.0 .0 17.0 14.0 5.0 9.0 T1.0
g 0001 0 - - - - - 00002 - 00002 - - = 0
ng 0. 003X <0.0000 = = = = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 <0. 0000: - - - = = <0. 00002 - <0. 00002 - = - <0.
ng . 0025 —[__<0.0001 = - —|__<0.0001 = - —[__<0.0001 = -
ng .o_ﬁos 5 00000 - = = = = 0000 = 00001 - = =
ng . 005 <0.0000 - - - = = . 0000 - 00002 - = =
ng . 003L <0.0000 = = = = = 0000 = 0000 = = -
mq, 0.35(F| <0. 0000 - - - = = 0000 - . 0000 - = =
ng 0. 055! <0.0000 - = - = = . 0000 - 0000 = = -
s ng 0. 05L <0.0000 = = = = = 0000 = 0000 = = =
RZDDVP) ng 0. 008% <0.0000 - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 <0.0000 - - - = = 0000 - 0000 - = =
07z (CNP mg. 0. 0001 F 0. 000 - - - = = 0. 000 - 0. 000 - = -
ng 0.0005% <0.000 - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L <0.0000 = = = = —[_<0.0000" = 0000 = = -
ng 0.004% <0.0000 - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng 0. 03% <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001L <0.00003 = = - = =[__<0.00003 =[_<0.00003 = = = <0.
mg 0. 003% <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng oﬁ)z > 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LLF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055 F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L K| <0. 0000 - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. . <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 0. 009L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
~ 3 mg/ 0 1L(F|<0.0000 = = - = = . 0000 = . 0000 = = -
NP2 SER) ng 0. 08I <0.0000 - - - = = . 0000 - . 0000 - - -
RO T A AR ng 010 F|_<0.0000 - - - = = . 0000 - 0000 - - -
e[ X T 701 7 (MCPP) ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
SIXFIVEI Lo ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
EFZ o0 mg/ 0. 01LLF|<0.00002 = = - = = 00002 = 00002 = = -
BV NI NAQ ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
1,||17471/T7\(1/ T175%, EDDP) ___ma/ 0. 0065 T <0.00005 - - - - - 00005 - . 0000 - - -
[H=ET=p7 ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = . 0000 - . 0000 - = -
II)Ozft / |~ mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
,,," L75 ng 0.04 <0.0000 B B - = = . 0000 B . 0000 B = -
4V7D7Jll/7‘(MlP() ng/ 0. 01L(F|[_<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v ng 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tﬂ‘mp mg/ 0. 0045 <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
ng/ 01F 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(F | <0. 0000 - - - = —[_<0.0000' —[_<0.0000 - - -
ng . 01L( <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mg/ 08 F <0.00 - - - - - <0.00 - <0.00 - - -
ng . 01L( | <0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051 <0.0000 - - - = = _<0.0000" —[_<0.0000" - = -
57y mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
S5 (00 ng 0. 0211 <0.000 B B - = = 0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 095X ng 0. 0BL( || <0.00005 B = - = —[__<0.00005 —_<0.00005 = = -
27X (IPP) mg 0.0011¢ <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TURT—F mg/ 20T [ <0.000 - - - = = 0. 000 - 0,000 - - -
EEPA(Giz ) ng 0511 <0.0000 B B - = = 0000 B 0000 B - -
VIl ng 030 <0.0000 - - - = = 0000 - 0000 - = -
ng . 02L( | <0.00002 = = - = = 00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0.000004 —[<0. 000004 - - - K
ng _03L( | <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 0031 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 0. 0211 <0.0000 B B - = = . 0000 B 0000 B = -
nq 0. 004L(F[_<0.0000: - - - - - . 00004 - 00004 - - -
ng 0.055 0.000 = = - = = 0.000 = 0.000 = = -
TATOAILT ng [OES <0.000 - - - = —[_<0.000 - 0,000 - = -
EEIN=Z mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
EII /TR ng 0.2 <0.000 B B - = = 0.000 B 0.000 B = -
NY RO XFIV nq 0. 4L{F|__<0.0000 - - - - —[_<0.0000 - 0000 - - - <0. 00001
FIS 5590 ng 0. 0BL( || _<0. 000002 = = - = —[_<0. 000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 002X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
FEFIL ng 2LL <0.02 = = - = = <0.02 = 0,02 = = - <0.02
FUA—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng 0. 03L( F||_<0. 000002 B B - = —|_<0. 000002 —[<0.000002 B - - <0. 00000;
7-7J'~/NI/7 ng 008X <0.00005 - - - = = __<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 0. 000 = = - = = 0.0002 = 0. 0002 = = - 0. 0002
DaE=02 ng 031 <0.0000 - - - = = . 00002 - 00002 - - - . 00002
ZDWISE WL mg 0,311 <0.0000 - - - = = 0000 - 0000 - - - <0.0000°
FUTNS U ng 0. 0651 <0.0000 B B - = = . 0000 B 0000 B - - 0000
F7VARO-L ng 0. 0081 0000 - - - = = 0000 - 0000 - = - 00001
24700 ng 0. 0005LT | <0.00000 - - - = —[<0.00000 —[<0.00000" - = = <0. 000005
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7kié7k EF‘%E( ERR21EE

200070413 ] [ 2009712701 [ 2010701712 | 2010702701 [ 2010703701 2 & EE R |
x& FEEs FEEE e e i1
p:) T 15. 20.0 6.0 6. 8. 29.0 6.0 16.8
Kt (é 17. 20.0 6.0 7. 2. 26.0 6.0 17.2
T% ml 0 0 0 0] 0
NPN_100mT = (=) (O] (=) ) © © =) [© (=) = = -|
g, -[__<0.0003 -|___<0.0003 -|__<0.0003 <0.0003 -|__<0.0003 <0000 <0000 <0.0003
mg, —|__<0.00005 —|__<0.00005 —|__<0.00005 <0.00005 =__<0.00005, <0.00005] __<0.00005] _<0.00005
mg, = 0.00 - 001 = .00 .00 - . 001 <0.00 <0.00 001
mg, = <0.00 - 001 = <0.00 .00 = <0.001 <0.00 <0.00 001
mg, = <0.00 - 001 = .00 .00 = 001 <0.00 <0.00 001
g, + = <0. 00! - 005 = <0.00! .00 = <0.005 <0. 00! <0.005 005
mg, = <0.00 - 001 = .00 001 = 001 <0.001 <0.001 001
mg, [ 0.84 0.9 0.90 0.77 0.73 0.7 11 1.31 1.27 1.01 1.31 0.73 0.95]
mg, 0.80) - <0.08 - <0.08] - <0.08 <0.08 - <0A@| <0.08] <0.08] <0.08)
mg, ‘ = <0.02 - <0.02 = <0.02 <0.02 = <0.02 <0.02 <0.02 <0.02)
g, —[__<0.0002 —|__<0.0002 =|__<0.0002 <0.0002 =[__<0.0002[ <0.0002] __<0.0002] _<0.0002)
mg, = <0.005 - 005 = <0.005 005 = < A0ﬁ| <0.005 <0.005 03]
mg, = <0.004 = 004 = 004 004 = 004 <0.004 <0.004 004
mg, = <0.002 - 002 = <0.002 002 = <0.002] <0.002 <0.002 002)
mg, = <0.001 - 001 = 001 001 = 001 <0.001 <0.001 001
ng - <0.003[ - . 003 - <0.003 . 003 - <0.003 <0.003 <0.003’ 003]
mg, = <0.001 - 001 = .00 001 = 001 <0.001 <0.001 001
g, = 0.07 - 0.07 = 0.1 0.06 = 0.06 X
mg, = <0.002 - 0.002 = <0.00; <0.002 = <0.002
mg, = 007 - .01 = .01 .00 - 003
mg, = <0.00: - 004 = <0.00: <0.00: = <0.004
mg, = . 00; - . 01 = 004 <0.00 = . 001]
g, = <0.00 - <0.00 = <0.001 <0.00 = <0.001]
mg, = .01 - .02 = 022 004 = 006
g[FUZon mg, = 0.0 = 0.02 = 0.02 0.0 = 0.02
[ToEo70nXzy mg = 0.006 - . 008 = 0.008 . 002 = 0.002]
[FEERILL ng = <0.001 - <0.001 = <0.001 0001 = <0.001
FILLTILTEF mg, - <0. 008 - <0.008 - <0.008 <0.008 - <0.008
EF ng = <0. - .01 = 0.0 X} = <0.01
HIE=IN mg, 02F — <0. - .02 = .0 .0; - <0.02
mg, 0.3L( <0.01 < <0.01 0.0 <0.01 0.0 <0.01 X1} <001 <0.01
mg, 1LF - < - 0.0 - <0.0 0 - <0.01
mg, 200007 — .
mg, 0,051 <0.005
mg/ 200147
mg, 300L( -
g 5005 F] -
mg, 0. 25T =
mg, 000001 <0.000001
mg/ 0.00001L | <0.000001
mg, 0.02
mg, 00054 F| <0.0005
mg, e 0.6 X X X
5 BLLEB. 6T 6.8 X X 6.8
BERECBLT §§%
BETLELNCE R SRRy 7 d
E SI(F| 1 1 <1 <1 <1 1 <1 <1
I 20T X 1 1 X 0.1 0.1 <01 0.1 0.1
mg, 001511 - 0.00 - - = 0. 001 - - - X - - 0,001 0. 001 0. 001
mg/ 000214 F| —[_<0.000. - - - <0.0002 = - - X = - <0.0002]<0.0002] <0.0002|
mg, 001X = <0.00 - - = <0.001 = - - X = = <0.001 <0.001 0.001
mg/ 005X F = <0.00! - - = <0.005 = - - X - - <0.005 <0.005 0. 003)
g, 0. 00411 F| =[__<0.000. - - —|__<0.0004 = - - X = - <0.0004] __<0.0004] __<0.0004]
mg, 210 = 0.0 - - = <0.02 = - - X = - 0.02 002 <0.02)
mg/ T -] - - - -] -] -] - - - - -] -] - -
mg, - - - - - - - - - - - - - - -]
mg/ i -] - - - -] -] -] - - - - -] -] - -
g, 0. 01T = <0.00 - - = 0.00 = - - <0001 = - 0.002 <0.00 <0.001
mg, 0.0 - <0.00; - - - 0.00 - - - <0.002 - - 0.002 <0.00: <0.002
mg/ e 0.7 0. 0.7 0.7 0.6 X 0.6 0.7 0.7 0.7 0.6 0.7 .7 0
mg, TOLLE 1001 - 21. - 22.1 - 25. - 26.9 - 26.8 - 76,0 26.9 6. 23.0]
mg/ 0.01XF <0.005 <0.00 <0.005 <0.005 <0.005 0.01 <0.005 <0.005 <0005 <0.005 <0005 <0.005 0.011 <0. 00! <0.005
i g, 20L(F = 3. - - - . = - - 6.2 - - .2 3.5 5.3
B, 1-F 70018y mg, 0.3L( = <0.03] - - = 0.03 = - - <0.03 = - <0.03 <0.03 <0.03)
B[ XFIV-t-7 F)LT—7JU (IBE) mg, 002X F - <0.002 - - - <0.002 - - - <0.002 - - <0.002 <0.002 <0.002
B|EEmE ) ma/ g_tz“ - - - - - - - - - - - - - - |
ng - - - - - - - - - - - - = =) -|
m MD(TZOOQ(" = 3 = 70 = 8, = 95 = 9. = 59 9! 59 77
i 1L 0.1 <0. 0.1 <0.1 <01 0. 0.1 <0.1 0.1 <0. 0.1 0.1 <0. <0.1 <0.1
7512 6.8 6. 6.8 6.9 6.9 6. 6.9 6.8 6.7 6. 6.9 6.8 6. 6.7 6.8
ma/ | 1R 28 EE LWl 1 3] - -2, - - - -2, - - - -2, - -~ -, -2, -2. 6]
omT 200X F = - - - - - - - - 0
ma/T 0. 1L(F = 0.0 = - = 0.0 = - = 0.0 = = 0.0 0.0 <0.01
ma/[ 01L(F = <0.0 - 0.02 = 0.0 = <0.02 - <0.0 = <0.02 0.0 <0.0; <0.02)
mg/T - - - - - - - - - - - - - - -]
7195 n 99.2 78.2 103.6 96.0 956 113.3 113.9 116.0 T0T.1 T07.1 120.9 82.1 120.9 78.2 102.3]
kq
o)
it
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200070413 [ 200705, 111 (200070771 [ 20007727011 2010/01/12 [ 2010702701 T 2010703701 T =
TERE -3 BEEE EhE TERE TEEE TERE i TEE TR e
T 15. 21.0 20.0 20.0 21.0 28.0 20.0 14.0 8.0 6.0 6.0 8.
K 17, 19.0 20.0 25.0 26.0 24.0 21.0 16.0 3.0 6.0 7.0 1.0
g 0001 0,000, - - - - - 0.0002 - 00002 - - = 0
ng 0. 003X <0.0000 = = = = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 <0. 0000: - - - = = <0. 00002 - <0. 00002 - = - <0.
ng . 0025 —[__<0.0001 = - —|__<0.0001 = - —[__<0.0001 = -
ng .o_ﬁos 5 00000 - = = = = 0000 = 00001 - = =
ng . 005 <0.0000 - - - = = . 0000 - 00002 - = =
ng . 003L <0.0000 = = = = = 0000 = 0000 = = -
mq, 0.35(F| <0. 0000 - - - = = 0000 - . 0000 - = =
ng 0. 055! <0.0000 - = - = = . 0000 - 0000 = = -
s ng 0. 05L <0.0000 = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% <0.0000 - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 <0.0000 - - - = = 0000 - 0000 - = =
07z (CNP mg. 0. 0001 F 0. 000 - - - = = 0. 000 - 0. 000 - = -
ng 0.0005% <0.000 - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L <0.0000 = = = = —[_<0.0000" = 0000 = = -
ng 0.004% <0.0000 - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng 0. 03% <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001L <0.00003 = = - = =[__<0.00003 =[_<0.00003 = = = <0.
mg 0. 003% <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng oﬁz > 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LLF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055 F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L K| <0. 0000 - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. . <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 0. 009L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
~ 3 mg/ 0 1L(F|<0.0000 = = - = = . 0000 = . 0000 = = -
NP2 SER) ng 0. 08I <0.0000 - - - = = . 0000 - . 0000 - - -
RO T A AR ng 010 F|_<0.0000 - - - = = . 0000 - 0000 - - -
e[ X T 701 7 (MCPP) ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
SIXFIVEI Lo ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
EFZ o0 mg/ 0. 01LLF|<0.00002 = = - = = 00002 = 00002 = = -
BV NI NAQ ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
1,||17471/T7\(1/ T175%, EDDP) ___ma/ 0. 0065 T <0.00005 - - - - - 00005 - . 0000 - - -
[H=ET=p7 ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = . 0000 - . 0000 - = -
II)Ozft / |~ mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
,,," L75 ng 0.04 <0.0000 B B - = = . 0000 B . 0000 B = -
4\/7’1:173;1/7<M|P0 ng/ 0. 01L(F|[_<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v ng 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tﬂ‘mp mg/ 0. 0045 <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
ng/ 01F 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(F | <0. 0000 - - - = —[_<0.0000' —[_<0.0000 - - -
ng . 01L( <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mg/ 08 F <0.00 - - - - - <0.00 - <0.00 - - -
ng . 01L( | <0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051 <0.0000 - - - = = _<0.0000" —[_<0.0000" - = -
57y mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
S5 (00 ng 0. 0211 <0.000 B B - = = 0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 095X ng 0. 0BL( || <0.00005 B = - = —[__<0.00005 —_<0.00005 = = -
27X (IPP) mg 0.0011¢ <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TURT—F mg/ 20T [ <0.000 - - - = = 0. 000 - 0,000 - - -
EEPA(Giz ) ng 0511 <0.0000 B B - = = 0000 B 0000 B - -
VIl ng 030 <0.0000 - - - = = 0000 - 0000 - = -
ng . 02L( | <0.00002 = = - = = 00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0.000004 —[<0. 000004 - - - K
ng _03L( | <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 0031 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 0. 0211 <0.0000 B B - = = . 0000 B 0000 B = -
nq 0. 004L(F[_<0.0000: - - - - - . 00004 - 00004 - - -
ng 0.055 0.000 = = - = = 0.000 = 0.000 = = -
TATOAILT ng [OES <0.000 - - - = —[_<0.000 - 0,000 - = -
EEIN=Z mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
EII /TR ng 0.2 <0.000 B B - = = 0.000 B 0.000 B = -
NY RO XFIV nq 0. 4L{F|__<0.0000 - - - - —[_<0.0000 - 0000 - - - <0. 00001
FIS 5590 ng 0. 0BL( || _<0. 000002 = = - = —[_<0. 000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 002X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
FEFIL ng 2LL <0.02 = = - = = <0.02 = 0,02 = = - <0.02
FUA—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng 0. 03L( F||_<0. 000002 B B - = —|_<0. 000002 —[<0.000002 B - - <0. 00000;
7-7J'~/NI/7 ng 008X <0.00005 - - - = = __<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 0. 000 = = - = = 0.0002 = 0. 0002 = = - 0. 0002
DaE=02 ng 031 <0.0000 - - - = = . 00002 - 00002 - - - . 00002
ZDWISE WL mg 0,311 <0.0000 - - - = = 0000 - 0000 - - - <0.0000°
FUTNS U ng 00611 <0.0000 B B - = = . 0000 B 0000 B - - 0000
F7VARO-L ng 0. 0081 0000 - - - = = 0000 - 0000 - = - 00001
24700 ng 0. 0005LT | <0.00000 - - - = —[<0.00000 —[<0.00000" - = = <0. 000005
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201070412 | 201070510] 2010/06/07 | 2010707715 ] [ 207071107 ] 2010712706 | 2011701711 [ 2011702707 ] 2011703715
B3 3 FER| 5 5t B R
P °C 16.0 4.
Kim. é 16.0 6.
T% ] 7300] 65
WPN_100mT ] ( G
mg. - <0. 0003 - - <0.0003 - <0. 0003
mg, - <0. 00005 - - <0. 00005 - <0. 00005
mg, - <0. 00 - - . 00 - . 001
mg, - <0.00° - - <0. 00 - <0.001
mg, - <0. 00° - - . 00 - . 001
mg, T = <0. 00! - = <0. 00! = <0. 005
mg, A - <0. 00 - - . 00 - . 00T
mg, 0L/ 0.77 0.80 0.77 0.89 0.6 0. 7 1.05 0.95
ng 0.80 - <0.08 - - <0.08 = 0. @'
mg, A - <0. 02 - - <0. 02 - <0.02
mg. 0. 002LF = <0. 0002 - = <0. 0002 - <0.0002]
mg, - <0.005 - - <0.005 = <A0ﬁ|
mg, - <0. 004 - - . 004 - . 004
mg, - <0.00; - - <0. 00 - <0. 002
mg, - <0. 00 - - . 00 - . 001
mg, - <0. 00 - - <0. 00 - <0.001
mg, - <0. 00° - - . 00 - . 001
mg. el el el el el el el
mg. hl hd s hl hl hl el
mg, = - = = = = =
mg. el el bl el el hl el
mg. el el el el el el el
BtV ZOO mg, - - - - - - -
FoE>yZo0Xz> mg, - - = - - - -
IPEEFRLVL mg - - - - - - -
FIVLTIVTEF mg, = = = = = - =
E:f mg, - <0. - - <0.01 = <0.01
TIVEZTL mg, 0.2 F - . - - 7 - . 08
mg, 0.3 0.07 0.11 OA@ . 0.09 0.11 . 08
mg, 1T =] <0. - =] < - <0.01
mg, 20020 F - 5. - . - - - 6.7
mg, 0. 052( 0.021 0.033 0.027 0. 04¢ 0.022 0.021 0.013 0.033
mg/ 200LLF| 7. 7.7 A 6.0 6.7 9.9 6.0
mg, 3002L - 20.2| - 1 - - 21.9]
g 50014 T - 56 - - - 52
mg, 0. 250 F - - <0.02
mg, 0. 00001 0. 000002 2] <0.000001
mg/’ 0.00001X T <0.000001 <0. 00000 <0. 000001] _ <0. 000001
mg, 0. 02; - . - . 002 - - <0. 002
mg, 0. 0054 - <0. 0005 - <0. 0005 - <0. 0005 - <0. 0005 - <0. 0005 - <0. 0005
mg, 3LF] 1.4 1.7 2.0 2.9 1.2 1.3 1.2 3.1 1.2 0.9 1.2 1.0
5. 8LLE8. 654 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.7 6.9 6.8 6.9 6.9
EETHELCT | - - - | ] =] - - - - —
EETHLCE TERE T TR TERE TRE T IR L JI5 L] JI5 L] I TTE% TR
E SI(F 3 5 25 5 5 20 4 4
I3 2L(F] 0.9 3. 1.6 30.3 1.3 0. 1.2 21.5 0.6 2. 2.4 1.1
mg, 0. 0155 - 0. 00 - - - 0.00 - - - 0.00 - -
ma/ 0. 002LLF - <0. 000; - - - <0. 0002 - - - <0. 0002 - -
mg, 0. 012( - <0. 00° - - - <0.001 - - - 0. 002 - -
mg/’ 0. 05LLF| = <0. 00! - - - <0. 005 - - - <0. 00! - -
mg. 0. 004LLF = <0. 000 - - = <0. 0004 = - - <0. 0004 = -
mg, .21 -] 0.0 = - -] <0.04 -] - - 0.0 = -
mg/ T = <0.0 - - = <0.01 - - - <0.0 = -
mg, - - - - - - - - - - - -
mg/ i -] - - - -] -] -] - - - - -]
mg. 0.014F - - - - - - - - - - - -
mg, 0.0 - - - -] - - - - - - - -
mg/ e -] - - - -] -] -] - - - - -
mg, TOLLE100L4 - 20. - 11.2 - 23. - 12.7 - 25. - 21.9]
mg/ 0. 01&“ 0.021 0.033 0.027 0. 046 0. 022 0. 040 0.021 0. 066 0.017 0. 020 0.013 0.033
f mq, 200 F| = - - -] - - = - - - - -]
E[11,1-F 70012 mg, 0. 3L - <0.0; - - - <0.03 - - - <0.03 - -
B XFIV-t-F FIVT—7 )b (MTBE) mg, 0. 02LLF] - <0. 002 - - - <0. 002 - - - <0. 002 - -
BEEIE ( ) ma/ g_tz“ =] - - - =] =] =] - - - - -]
mg. - - - - - - - - - = - el
me 305 E200LL | = 56 - 72 = 81 = 75 - 78 - 52
é 1L 0.9 3.2 1.6 30.3' 1.3 0.9 1.2 21.5 0.6 2.0 2.4 1.1
7. 512 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.7 6.9 6.8 6.9 6.9
ma/ 1 BT = = = = - - - - = = — =
ﬁ/m ] 20002 F| - - - - - - - - - - - -
mg/T 0. 1(F - <0.0 - - - <0.01 - - - - -
ma/| 0. 12(F| = 0.3 = 2. 77 = .07 = 1.10 - - 0.08[
mg/T 0.02 0.0 0.02 0.0T 0.19 . 02 <0.01 0.02 0.03 1 0.07 0.02]
us/cm 63.3 80. 102.3 50.0° 79.0° 110. 1 871.7 47.0 89.1 105.3 90.6
|
o
s

_60_



MIER 9 Ak s TR

FBIKE  Z)IRFK (H#H)
RRERH

2070/0412 [ 2010705, 10 1 2010/06707 [ 2010707715 [ 2010,087021 T 2070/T1 011 2010/12706 | 2011701/ 11 T 2011702707 201703715 1 =
n E‘ It B LGS ﬂgﬂ ﬁ! L) BEE fﬁ! Eﬁgﬁ
T 16.0 22.0 29.0 28.0 2 6.0 0.0 4.0 11.0
“C 16.0 21.0 25.0 28.0 21.0 10.0 4.0 6.0 10.0
g 0001 - - - - - 00002 - 00002 - - = 0
ng 0. 003X = - - = =|_<0.00001 —[<0.00001 - - - <0.
mg, 0. 0210 - - - = = <0. 00002 - <0. 00002 - = = <0.
ng . 0025 <0.0001 = - —|__<0.0001 = - —[__<0.0001 = -
ng X o_ﬁos 5 - = = = = 0000 = 00001 - = =
ng . 005 - - - = = . 0000 - 00002 - = =
ng . 003L = = = = = 0000 = 0000 = = -
mq, 0.3(F - - - = = 0000 - . 0000 - = =
ng 0. 055! - = - = = . 0000 - 0000 = = -
s ng 0. 05L = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 - - - = = . 0000 - 0000 - = =
07z (CNP mg. 0. 0001 F - - - - = 0. 000 - 0. 000 - - -
ng 0.0005% - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L = = = = —[_<0.0000" = 0000 = = -
ng 0.004% - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 —[<0.000002 - - - <0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng 0. 03% <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001L <0.00003 - - - = =[__<0.00003 =[<0.00003 - - - <0.
mg 0. 003% <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng oﬁ)z > 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LLF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055 F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 - - - = —[_<0.0000 —[<0.0000 - - - <. . .
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L K| <0. 0000 - - - = —[_<0. 0000 =[_<0.0000 - - - <0. 00005 _<0. 00005] _<0. 0000:
mg, 0. . <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X .
mg/ 0. 009L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011X 0,000 - - - = = 0.000 - 0,000 - = -
~ 3 m/ 0 1L(F|<0.0000 = = - = = . 0000 = . 0000 = = -
NP2 SER) ng 0. 08I <0.0000 - - - = = . 0000 - . 0000 - - -
R T XET> ng 0 1L(F|__<0.0000 - - - = = . 0000 - 0000 - - -
e[ X T 701 7 (MCPP) ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
) EEA EIN=2 ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
EFZ o0 mg/ 0. 01LLF|<0.00002 = = - = = 00002 = 00002 = = -
B[A7L7X7 10 (NAC) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
$,||17471/T7\(1/ T175%, EDDP) ___ma/ 0. 006 | <0.00005 - - - - - 00005 - . 0000 - - -
[H=ET=p7 ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = . 0000 - . 0000 - = -
II)Ozft / |~ mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
'ﬁ" L75 ng 0.04 <0.0000 B B - = = . 0000 B . 0000 B = -
4v7u73;»7<mwc) ng/ 0. 01L(F|[_<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v ng 0.3L( | <0.00005 = = - - - 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
X ?a%t/(_mp mg/ 0. 0045 <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
ng/ 01F 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 = <0.0000 - - -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(F | <0. 0000 - - - - —[_<0.0000' =[<0.0000 - - -
ng 015X <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mg/ 08 F <0.00 - - - - - <0.00 - <0.00 - - -
ng . 01L( | <0.0000 = = - - —[_<0.0000 =[<0.0000 - - -
ng 051 <0.0000 - - - = = _<0.0000" —[_<0.0000" - = -
57y mg/ 0. 005 T <0.00 - - - = = <0.00 - <0.00 - - -
S5 (00 ng 0. 0211 <0.000 B B - = = 0.000 B 0. 000 B = -
TUFALT 7Y ng 0. 01L(F|_<0.0000 - - - - =[_<0.0000" =[<0.0000 - - -
TFror 095X ng 0. 0BL( || <0.00005 B = - - =[_<0.00005 =[<0.00005 - - -
PESZZ A1) ng 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TURT—F mg/ 20T [ <0.000 - - - = = 0. 000 - 0,000 - - -
KD (EizP) ng 0551 <0.0000 B B - = = 0000 B 0000 B - -
VL ng 030 <0.0000 - - - = = 0000 - 0000 - = -
ng . 02L( | <0.00002 = = - = = 00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0.000004 —[<0. 000004 - - - <
ng . 3L <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 0031 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 0. 0211 <0.0000 B B - = = . 0000 B 0000 B = -
mg 0. 0041/ F[__<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.051Y 0.000 = = - = = 0.000 = 0.000 = = -
TATOAILT ng [OES <0.000 - - - = —[_<0.000 - 0,000 - = -
FALOY mg 0.81( <0. 0000 - - - - = _<0.0000 =[_<0.0000 - - -
E71/9y0X ng 0. 25X <0.000 B B - = = 0.000 B 0.000 B = -
NY RO XFIV mq 0. 4L{F|__<0.0000 - - - - —[_<0.0000 - 0000 - - - <0, 00001 ]
FIS 5590 ng 0. 0BL( || _<0. 000002 = = - - =] <0.000002 =[<0.000002 - - - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 0. Q21 <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
EDP AN ng 0,55 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
FEFIL ng 2LL <0.02 = - - - - <0.02 - <0.02 - - - <0.02
FUA—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=P31%ds] /x FIU mg 0,311 <0, 00005 - - - = =] _<0.00005 =[_<0.00005 - - - <0, 00005
7597 ng 0. 03L( F||_<0. 000002 B B - = —|_<0. 000002 —[<0.000002 B - - <0. 00000;
9’-7J'~/NI/7 ng 008X <0.00005 - - - = = __<0.00005 —[_<0.00005 - = - <0.00005
JOEaFI—IU ng 0,055 0. 000 = = - = = 0.0002 = 0. 0002 = = - 0. 0002
DeaEspZ ng 031 <0.0000 - - - = = . 00002 - 00002 - - - . 00002
EJTnEy 7y ng 0,351 <0.0000 - - - = = 0000 - 0000 - - - <0.0000
FUTNS U ng 0. 0651 <0.0000 B B - = = . 0000 B 0000 B - - 0000
F7VARO-L mg 0. 0081 0000 - - - = = 0000 - 0000 - = - 00001
Z70-)0 ng 0. 0005LT | <0.00000 - - - = —[<0.00000 —[<0.00000" - = = <0. 000005
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2010704, 12 | 201070510 | 2010/06/07 ] 2010707715 201071101 ] 2010/12706 | 2011701/11 ] 2011702707 | 2011703/15 = & 53
x& 3 i 5 55t i TR R 5
p:) T 16.0 22.0 2 6.0 0.0 5.0 10.0 28.0
Kt (é 16.0 21.0 21.0 10.0 4.0 6.0 107%| 28.0
T% ml 3 3800] 760 680 900 T3000]
NPN_100mT (4] ) O] ) ® ) =
g, -[__<0.0003 - - - -|__<0.0003 -|__<0.0003 <0000 <0000
mg, —|__<0.00005 - = = —|__<0.00005 =__<0.00005, <0.00005] __<0. 0000
mg, = 0.00 - = .00 = - .00 - . 001 <0.00 <
mg, = <0.00 - = <0.00 = - .00 = <0.001 .00 <
mg, = <0.00 - = .00 = - .00 = 001 20.00 <
g, + = <0. 00! - = <0.00! = - .00 = <0.005 <0. 00! <
mg, . = <0.00 - = .00 = - 001 = 001 <0.001 <
mg, [ 0.67 0.7 0.64 0.71 0.4 0.68 0.79 0.87 0.80 0.78 0.88
mg, 0.80) - <0.08 - - <0.08 - - <0.08 - 0. @' <0.08
mg, ‘ = <0.02 - = <0.02 = - <0.02 = <0.02 <0.02
g, —[__<0.0002 - =|__<0.0002 = —|__<0.0002 =[__<0.0002[ <0.0002] <0
mg, = <0.005 - = <0.005 = - 005 = <A0ﬁ| <0.005 <
mg, = <0.004 = = 004 = = 004 = 004 <0.004 <
mg, = <0.00; - = <0.00; = - 002 = <0.002 <0.002 <
mg, = <0.00 - = .00 = - 001 = 001 <0.001 <
mg, = <0.00 - = <0.00 = - 001 = <0.001 <0.001 <
mg, = <0.00 - = .00 = - 001 = 001 <0.001 <
g, = - - = - = - - = - -
mg. - hl el - - - el el - - -
mg. - - - - - - - - - - -
mg, = = = = = = = = - = =
mg. - - el - - - el el - - =
g, = - - = = = - - = = =
mg. - hl el - - - el el - - -
BtV ZOO mg, - - - - - - - - - - -
[ZoEsZ00xEY g = - - = = = - - = - =
[ZoERULL ng = - - - = = = B = = =
FIVLTIVTEF g, = - - = = = - - = = =
EF ng = <0. - = <0.01 = X - <001 = <0.01 02
HIE=IN mg, — X - — .06 - X - .07 - .09 .29
mg, 0.09 X 011 0.08] 1 0.10 X 0.06 .06 0.08 i .87
mg, - <0. - - 0.0 - <0. - <0.01 - <0.01 <
mg, = = . = 1 = .5 = 6.0
mg, 0.026 0.04; 0.025 0.026 0021 0.015 0.01 0.011 0.039 0.04
mg/ 7. S. 6.6 9.3 5.6
mg, - 1. - - 19.6 2
mg, - - - - 49
mg, = = <0.02 <0.02
mg, <0.000001 7| <0.000001 0000002
mg/ <0.000001 <0.000001 <0.000001 <0.000001 00000 1] <0.000001 <0.000001
mg, - - X 002 - - <0.002 <0.002
mg, —[_<0.0005 - <0.0005 —|__<0.0005 - <0.0005 - <0.0005 —|___<0.0005! <0.0005
mg, 13 1.6 1.0 2.9 11 1.2 1.1 1.5 T1 0.9 T1 0.9
58LL Ers. 6507 6.9 6.9 6.9 6.8 6.8 6.9 6.9 6.8 6.9 6.8 6.9 6.9 6.9
BChELT - - = = - - - - - - - - - = |
BETELCE TR TG Iy TR TR I TEER TER JI-X] & TR LY - - -
E SI(F 4 5 25 5 5 3 4 4 3 25 3 6|
I 20 F] 1.0 2. 13 30.0 13 1 12 2.9 0.5 iR 15 12 30.0 0.5 3.8
mg, 001511 - 0.00 - - - 0.00 - - - 000 - - 0,001 0,001 000
mg/ 000214 F| —[_<0.000. - - - <0.0002 = - - <0.0002 = - <0.0002] _<0.0002]<0.0002)
mg, 001X = <0.00 - - = <0.001 = - - 0.00 = = <0.00 <0.00 ()
mg/ 005X F = <0.00! - - = <0.005 = - - 0. 00! - - <0. 00! <000 0.00!
g, 0. 00411 F| =[__<0.000. - - - <0.0004 = - = <0.0004 = - <0. 000, <0. 0004 <0.0004
mg, 210 = 0.0 - - = <0.04 = - - 0.0 = - 0.0 <0.04 <0.04
mg/ T = <0.0 - - = <0.01 = - - <0.0 = - <0.0 <0.0 0.0
mg, - - - - - - - - - - - - - - -
mg/ i -] - - - -] -] -] - - - - -] -] - -
g, 0.01XF = - - - = = = - - - = - - - -]
mg, 0.0 - - - -] - - - - - - - - = = -
mg/ e -] - - - -] -] -] - - - - - - - =
mg, TOL{ L1001 - 18 - 1.5 = 9.7 - 16.1 - 20.8 - 1.6 20.8] 1.5 7.7
mg/ 0. 01&" 0.026 0.041 0.028] 0.043 0.025 0.045 0.026 0.020 0.015 0.012 0.011 0.039 0.045 0.011 0.028]
i g, 2011 - - - - - - - - - - - - - - |
B, 1-FJ 70018y mg, 0.3L( = <0.03 - - = <0.03 = - - <0.03 = - <0.03 0,03 <0.03)
B[ XFIV-t-7 F)LT—7JU (IBE) mg, 0024 F - <0.002 - - - <0.002 - - - <0.002 - - <0.002 <0.002 <0.002
B|EEmE ) ma/ g_tz“ - - - - - - - - - - - - - - |
mg - - - - - - - - - - - - = = -|
m MD(TZOOQ(" = 55 - 72 = 88 = 69 - 74 = 29 88 29 68]
i 1L 1.0 2.6 13 30.0 T3 11 T2 2.9 0.5 1.2 15 1.2 30.0 0.5 3.8
7512 6.9 6.9 6.9 6.8 6.8 6.9 6.9 6.8 6.9 6.8 6.9 6.9 6.9 6.8 6.9)
ma/ | 26 E LMol 3 - - - - - - - - - - - - - - =
B mT 200X F - - - - - - - - - - - - - - -
ma/T 0. 1L(F = 0.0 - - = 0.01 = - - T = ~ <001 <001 0.01
ma/[ 01L(F - .2 - 2.29 - 0.06 - 0.20 - .07 - 0.09) 2.29 .06 0.50)
mg/T 0.03 0 0.02 0.02 0.07 0.0T] <001 0.03 0.02 .08 0.04 0.02 0.08] <0.01 0.
us/cm 78.1 3. 92.8 50.1 73.4 99.0 82.9 61.7 82.2 5.3 93.4 80.7 99.0 0.1 80.3]
kq
o)
it
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2070/0412 [ 2010705, 10 1 2010/06707 [ 2010707715 [ 2010,087021 T 2070/T1 011 2010/12706 | 2011701/ 11 T 2011702707 201703715 1 =
n E‘ It B LGS ﬂgﬂ ﬁ! L) BEE fﬁ! Eﬁgﬁ
T 16.0 22.0 28.0 28.0 2 6.0 0.0 5.0 10.0
“C 16.0 21.0 25.0 28.0 21.0 10.0 4.0 6.0 10.0
g 0001 - - - - - 00002 - 00002 - - = 0
ng 0. 003X = - - = =|_<0.00001 —[<0.00001 - - - <0.
mg, 0. 0210 - - - = = <0. 00002 - <0. 00002 - = = <0.
ng . 0025 <0.0001 = - —|__<0.0001 = - —[__<0.0001 = -
ng X o_ﬁos 5 - = = = = 0000 = 00001 - = =
ng . 005 - - - = = . 0000 - 00002 - = =
ng . 003L = = = = = 0000 = 0000 = = -
mq, 0.3(F - - - = = 0000 - . 0000 - = =
ng 0. 055! - = - = = . 0000 - 0000 = = -
s ng 0. 05L = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 - - - = = . 0000 - 0000 - = =
07z (CNP mg. 0. 0001 F - - - - = 0. 000 - 0. 000 - - -
ng 0.0005% - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L = = = = —[_<0.0000" = 0000 = = -
ng 0.004% - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 —[<0.000002 - - - <0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng 0. 03% <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001L <0.00003 - - - = =[__<0.00003 =[<0.00003 - - - <0.
mg 0. 003% <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng oﬁ)z > 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LLF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055 F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 - - - = —[_<0.0000 —[<0.0000 - - - <. . .
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L K| <0. 0000 - - - = —[_<0. 0000 =[_<0.0000 - - - <0. 00005 _<0. 00005] _<0. 0000:
mg, 0. . <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X .
mg/ 0. 009L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011X 0,000 - - - = = 0.000 - 0,000 - = -
~ 3 m/ 0 1L(F|<0.0000 = = - = = . 0000 = . 0000 = = -
NP2 SER) ng 0. 08I <0.0000 - - - = = . 0000 - . 0000 - - -
R T XET> ng 0 1L(F|__<0.0000 - - - = = . 0000 - 0000 - - -
e[ X T 701 7 (MCPP) ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
) EEA EIN=2 ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
EFZ o0 mg/ 0. 01LLF|<0.00002 = = - = = 00002 = 00002 = = -
B[A7L7X7 10 (NAC) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
$,||17471/T7\(1/ T175%, EDDP) ___ma/ 0. 006 | <0.00005 - - - - - 00005 - . 0000 - - -
[H=ET=p7 ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = . 0000 - . 0000 - = -
II)Ozft / |~ mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
'ﬁ" L75 ng 0.04 <0.0000 B B - = = . 0000 B . 0000 B = -
4v7u73;»7<mwc) ng/ 0. 01L(F|[_<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v ng 0.3L( | <0.00005 = = - - - 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
X ?a%t/(_mp mg/ 0. 0045 <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
ng/ 01F 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 = <0.0000 - - -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(F | <0. 0000 - - - - —[_<0.0000' =[<0.0000 - - -
ng 015X <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mg/ 08 F <0.00 - - - - - <0.00 - <0.00 - - -
ng . 01L( | <0.0000 = = - - —[_<0.0000 =[<0.0000 - - -
ng 051 <0.0000 - - - = = _<0.0000" —[_<0.0000" - = -
57y mg/ 0. 005 T <0.00 - - - = = <0.00 - <0.00 - - -
S5 (00 ng 0. 0211 <0.000 B B - = = 0.000 B 0. 000 B = -
TUFALT 7Y ng 0. 01L(F|_<0.0000 - - - - =[_<0.0000" =[<0.0000 - - -
TFror 095X ng 0. 0BL( || <0.00005 B = - - =[_<0.00005 =[<0.00005 - - -
PESZZ A1) ng 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TURT—F mg/ 20T [ <0.000 - - - = = 0. 000 - 0,000 - - -
KD (EizP) ng 0551 <0.0000 B B - = = 0000 B 0000 B - -
VL ng 030 <0.0000 - - - = = 0000 - 0000 - = -
ng . 02L( | <0.00002 = = - = = 00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0.000004 —[<0. 000004 - - - <
ng . 3L <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 0031 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 0. 0211 <0.0000 B B - = = . 0000 B 0000 B = -
mg 0. 0041/ F[__<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.051Y 0.000 = = - = = 0.000 = 0.000 = = -
TATOAILT ng [OES <0.000 - - - = —[_<0.000 - 0,000 - = -
FALOY mg 0.81( <0. 0000 - - - - = _<0.0000 =[_<0.0000 - - -
E71/9y0X ng 0. 25X <0.000 B B - = = 0.000 B 0.000 B = -
NY RO XFIV mq 0. 4L{F|__<0.0000 - - - - —[_<0.0000 - 0000 - - - <0, 00001 ]
FIS 5590 ng 0. 0BL( || _<0. 000002 = = - - =] <0.000002 =[<0.000002 - - - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 0. Q21 <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
EDP AN ng 0,55 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
FEFIL ng 2LL <0.02 = - - - - <0.02 - <0.02 - - - <0.02
FUA—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=P31%ds] /x FIU mg 0,311 <0, 00005 - - - = =] _<0.00005 =[_<0.00005 - - - <0, 00005
7597 ng 0. 03L( F||_<0. 000002 B B - = —|_<0. 000002 —[<0.000002 B - - <0. 00000;
9’-7J'~/NI/7 ng 008X <0.00005 - - - = = __<0.00005 —[_<0.00005 - = - <0.00005
JOEaFI—IU ng 0,055 0. 000 = = - = = 0.0002 = 0. 0002 = = - 0. 0002
DeaEspZ ng 031 <0.0000 - - - = = . 00002 - 00002 - - - . 00002
EJTnEy 7y ng 0,351 <0.0000 - - - = = 0000 - 0000 - - - <0.0000
FUTNS U ng 0. 0651 <0.0000 B B - = = . 0000 B 0000 B - - 0000
F7VARO-L mg 0. 0081 0000 - - - = = 0000 - 0000 - = - 00001
Z70-)0 ng 0. 0005LT | <0.00000 - - - = —[<0.00000 —[<0.00000" - = = <0. 000005
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2010704, 12 | 2010705, 10 | 2010706707 [ 2010707715 2010/11,01 ] 2010712706 | 2011701711 | 2011702707 [ 2011703/15
(] BN i i R i R e it
P} C 16. 18.0 23.0 8.0 0.0 6.0 12.
K K 14, 17.0 20.0 15.0 6.0 10.0 11,
7 3 3 T 3
© (=] ) ] ) (=) ) -
- <0.0003 -[__<0.0003 - <0.0003 - <0.0003
—[_<0.00005 —[_<0.00005 —|_<0.00005 = <0. 00005
= <0.00 - . 001 - .00 - .00
= <0.00 - 001 - .00 - <0.001
- <0.00 = . 001 = .00 = . 001
- <0.00! - . 005 - .00 - <0.005
- <0.00 - 001 - 001 = 001
0.46 .18 131 0.91 1.1 1.68 1.84 T.48
- <0.08 - <0.08] - <0.08 - <0.08
- <0.02 = <0.02 = <0.02 = <0.02
- <0.0002 - <0.0002 - <0. 0002 - <0.0002[
- <0.005 - 005 - 005 = <A0ﬁ|
= <0.004 = 004 = 004 = 004
= <0.00; - 002 - 002 - <0.002
- <0.00 = 001 = 00T = 001
= <0.00 - 007 = 007 - <0.001
- <0.00 = . 001 = 001 = . 001
mg, - hl el el el el - -
Bl(FJZ200F mg, - - - = - - - -
[ZoEsZ00xEY g = - - - - - = -
[FoERLL mg, = B B B = = = =
FVLTIVTER ng - - - - - - - -
E:H mg, - . - 1 - - . 01
ZIVS=TL mg, 0. 20 F| - . - 2 - - . 02
mg, 0.35C <0.01 1 X
mg, 1LLF] = —
mg, 20010 T -
mg, 005 <0.005
mg/ 200L(F 4.
mg, 3002C -
g 5005 F] -
mg, 0. 2L1F =
mg, 0.00001 0000007
mg/ 0. 000012 | <0. 000001 1
mg, 002 - <0.007 - <0.002
ng, 0. 0052 F| —[<0.0005 —[—<0.0005 -] <0.0005
mg, EVE 0.7 1.1 0.8 1.1 0.8 1.0 X
5. 8L FB. 614 T 6.7 6.7 6.2 6.4 6.0 6.2 6.2
BERECBLT - - - - - - - - - |
HE UL B 3 BE R ER i3 B B E: -
E S F <1 1 2 1 1 2 < < 2 <1 <1
E 20 F] <01 <0. <01 <01 <01 <01 <01 <01 <01 0.1 <0.1 <0.1 <0.1
g, 001511 - 000 - - - - - - = 0001 0,001 0. 001
mg/ 0. 0024 F| =[—<0.000. - - = = - = - <0.0002]<0. 0002] <. 0002
mg, 0.01EC = <0.00 = - = = - = - <0.00 <0.00
mg/ 0. 051/ -] <0.00! = = -] -] - = -] <0.00! <0. 00" 0. 00!
mg, 0. 0041 F| - <0.000: - - = = - = - <0. 000 <0.0004 <0.0004
mg, .21 -] 0.0 = - -] -] - - -] 0.0 <0.04 <0.04
mg/ T = <0.0 - = = = - = - <0.0 <0.0 <0.0
mg, - - - - - - - - - - - -]
mg/ i -] - - - -] -] - - -] -] - -
mg, 0. 01T = - - - = = - = - - - -]
mg, 0.0 - - - -] - - - - - = = -
mg/ e -] - - - -] -] - - - - - -
mg, TOELE T00L — 251 - 21.3 = = 7.7 = 27.3] 32.1 21.3 27.4)
mg/ 0. 01& ¥ <0.005 <0.005 <0.005 <0.005 <0.005 <0005 <0.005 <0.00! <0.005 <0.005 0.006 <0.005 <0.005
i mg, 20LLF - - - - - - - - - - - - |
E[L11-rI7O0TEy mg, 0.3LC -] <0.03] = - -] <0.03 -] - - -] <0.03 <003, <0.03]
B[ XFIV-t-7F/LT—7IU (ITBE) mg, 0. 02T = <0.002 - - = <0.002 = - - - <0.002 <0.002 <0.002
B|EEmE ) ma/ g_tz“ - - - - - - - - - - - - |
ng - - - - - - - - - - - = -
m mlezooﬁ(" = 73 - 83 = 115 = 9T - 73 115 73 91'
é 12 <0.1 <0.1 0.1 <0.1 <01 0.1 0.1 0.1 <0. 0.1 <0.1 0.1 0.1 <0.1
7. 52| 6.2 6.7 6.2 6.4 6.0 6.1 6.9 6.2 6. 6.2 6.2 6.9 6.0 6.3
ma/ 1 STy - = = — = — = = = - = = =
ﬁ/ m 1 2000/~ -] - = - -] <] -] - - -] -] = ]
mg/T 0 1LLF = <0.0 - = = = - = — <0.01 <0.01 <0.01
mg/T 0 15T - <0.0 - <0.02 - - <0.02 - <0.02 <0.02 <0.02 <0.02)
mg/T 0.01 .0 0.01 <0.01 0.04] 01 0.01 0.01 <0.01 <0.01 .04 <0.01 <0-01]
us/cn 112.8 102. 128.0 87.3 109.4 3 108.8 1211 154.7 123.8 154.2 7.3 119.1
Z|
o)
it
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FOREHE 2070/0412 [ 2010705, 10 1 2010/06707 [ 2010707715 [ 2010,087021 T 2070/T1 011 2010/12706 | 2011701/ 11 T 2011702707 201703715 1 =
ES] — Bw i i i TEEE it i TR R TR
Pl T 18.0 23.0 30.0 29.0 20.0 8.0 0.0 6.0 12.0
K K 17.0 20.0 24.0 27.0 21.0 15.0 6.0 10.0 11.0
g 0001 - - - - - 0.0002 - 00002 - - = 0
ng 0. 003X = - - = =|_<0.00001 —[<0.00001 - - - <0.
mg, 0. 0210 - - - = = <0. 00002 - <0. 00002 - = = <0.
ng . 0025 <0.0001 = - —|__<0.0001 = - —[__<0.0001 = -
ng X o_ﬁos 5 - = = = = 0000 = 00001 - = =
ng . 005 - - - = = . 0000 - 00002 - = =
ng . 003L = = = = = 0000 = 0000 = = -
mq, 0.3(F - - - = = 0000 - . 0000 - = =
ng 0. 055! - = - = = . 0000 - 0000 = = -
s ng 0. 05L = = = = = 0000 = 0000 = = =
R (00VP) ng 0. 008% - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 - - - = = . 0000 - 0000 - = =
07z (CNP mg. 0. 0001 F - - - - = 0. 000 - 0. 000 - - -
ng 0.0005% - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L = = = = —[_<0.0000" = 0000 = = -
ng 0.004% - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 —[<0.000002 - - - <0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng 0. 03% <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001L <0.00003 - - - = =[__<0.00003 =[<0.00003 - - - <0.
mg 0. 003% <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <.
ng oﬁ)z > 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LLF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055 F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. .
ng 0. 2L( | <0.0000 - - - = —[<0.0000 —[<0.0000 - - - <. . .
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X .
ng 0. 05L K| <0. 0000 - - - - =[__<0.0000 =[_<0.0000 - - - <0. 00005 _<0. 00005] _<0. 0000:
mg, 0. . <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - . .
mg/ 0. 009L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011X 0,000 - - - = = 0.000 - 0,000 - = -
~ 3 m/ 0 1L(F|<0.0000 = = - = = . 0000 = . 0000 = = -
NP2 SER) ng 0. 08I <0.0000 - - - = = . 0000 - . 0000 - - -
R T XET> ng 0 1L(F|__<0.0000 - - - = = . 0000 - 0000 - - -
e[ X T 701 7 (MCPP) ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
) EEA EIN=2 ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
EFZ o0 mg/ 0. 01LLF|<0.00002 = = - = = 00002 = 00002 = = -
B[A7L7X7 10 (NAC) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
$,||17471/T7\(1/ T175%, EDDP) ___ma/ 0. 006 | <0.00005 - - - - - 00005 - . 0000 - - -
[H=ET=p7 ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = . 0000 - . 0000 - = -
II)Ozft / |~ mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
'ﬁ" L75 ng 0.04 <0.0000 B B - = = . 0000 B 0000 - - -
4v7u73;»7<mwc) ng/ 0. 01L(F|[_<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES h;‘?— v ng 0.3L( | <0.00005 = = - - - 00005 - 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
X ?a%t/(_mp mg/ 0. 0045 <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
ng/ 01F 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = =[_<0.0000 = <0.0000 - - -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(F | <0. 0000 - - - - —[_<0.0000' =[<0.0000 - - -
ng 015X <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mg/ 08 F <0.00 - - - - - <0.00 - <0.00 - - -
ng . 01L( | <0.0000 = = - - —[_<0.0000 =[<0.0000 - - -
ng 051 <0.0000 - - - = = _<0.0000" —[_<0.0000" - = -
57y mg/ 0. 005 T <0.00 - - - = = <0.00 - <0.00 - - -
S5 (00 ng 0. 0211 <0.000 B B - = = 0.000 B 0. 000 B = -
TUFALT 7Y ng 0. 01L(F|_<0.0000 - - - - =[__<0.0000 =[<0.0000 - - -
TFror 095X ng 0. 0BL( || <0.00005 B = - - =[_<0.00005 =[<0.00005 - - -
PESZZ A1) ng 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TURT—F mg/ 20T [ <0.000 - - - = = 0. 000 - 0,000 - - -
KD (EizP) ng 0551 <0.0000 B B - = = 0000 B 0000 B - -
VL ng 030 <0.0000 - - - = = 0000 - 0000 - = -
ng . 02L( | <0.00002 = = - = = 00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0.000004 —[<0. 000004 - - - <
ng . 3L <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 0031 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 0. 0211 <0.0000 B B - = = . 0000 B 0000 B = -
mg 0. 0041/ F[__<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.051Y 0.000 = = - = = 0.000 = 0.000 = = -
TATOAILT ng [OES <0.000 - - - = —[_<0.000 - 0,000 - = -
FALOY mg 0.81( <0. 0000 - - - - = _<0.0000 =[_<0.0000 - - -
E71/9y0X ng 0. 25X <0.000 B B - = = 0.000 B 0.000 B = -
NY RO XFIV mq 0. 4L{F|__<0.0000 - - - - —[_<0.0000 - 0000 - - - <0, 00001 ]
FIS 5590 ng 0. 0BL( || _<0. 000002 = = - - =] <0.000002 =[<0.000002 - - - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 0. Q21 <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
EDP AN ng 0,55 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
FEFIL ng 2LL <0.02 = - - - - <0.02 - <0.02 - - - <0.02
FUA—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=P31%ds] /x FIU mg 0,351 <0. 00005 - - - = =] _<0.00005 =[_<0.00005 - - - <0, 00005
7597 ng 0. 03L( F||_<0. 000002 B B - = —|_<0. 000002 —[<0.000002 B - - <0. 00000;
7—7J'~/NI/7 ng 008X <0.00005 - - - = = __<0.00005 —[_<0.00005 - = - <0.00005
JOEaFI—IU ng 0,055 0. 000 = = - = = 0.0002 = 0. 0002 = = - 0. 0002
DeaEspZ ng 031 <0.0000 - - - = = . 00002 - 00002 - - - . 00002
EJTnEy 7y ng 0,351 <0.0000 - - - = = 0000 - 0000 - - - <0.0000
FUTNS U ng 0. 0651 <0.0000 B B - = = . 0000 B 0000 B - - 0000
F7VARO-L mg 0. 0081 0000 - - - = = 0000 - 0000 - = - 00001
Z70-)0 ng 0. 0005LT | <0.00000 - - - = —[<0.00000 —[<0.00000" - = = <0. 000005
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2010704, 12 | 201070510 | 2010/06/07 ] 2010707715 201071101 ] 2010/12706 | 2011701/11 ] 2011702707 | 2011703/15 = & B E F 5
x& 5 5 | TR R i
Py T 16. 23.0 0.0 6. 12. 30.0 0.0 17.3
Kt K 17. 20.0 6.0 7. 11, 29.0 6.0 17.3
0 0 o 0 0]
= O] ) & T - - -
- - <0.0003 -|__<0.0003 <0000 <0000 <0.0003
= - <0.00005 =__<0.00005, <0. 0000
= - .00 - . 001 <0.00
= - .00 = <0.001 <0.00
= - .00 = 001 <0.00
- - .00 = <0.005 <0. 00!
= - 001 - 001 <0.001
0.79 0.78 1.05 1.07 0.98 1.07
- - <0.08 - <0.08 <0.08]
1 = - <0.02 = <0.02 <0.02
g, 000214 F| - - <0.0002 =[__<0.0002[ <0. 0002
mg, = - 005 = < A)ﬁ' <0.005 X
mg, = = 004 = 004 <0.004 X
mg, = - 002 = <0.002 <0.002 X
mg, - = 001 = 001 <0.001 X
g, - - 001 - <0.001 <0.001 X
mg, - = 001 = 001 <0.001 X
g, = - 0.07 = 0. 06] 0.15 X
mg, = - <0.002 = <0.002 <0.002 X
mg, = - .00 - . 00; 008 X
mg, = - <0.00: = <0.00: 009 X
mg, - = <0.00 = <0.00 003
g, = - <0.00 = <0.00° <0.001
mg, = - .00 - . 00: 018
g[FUZon mg, = = 0.0 = 0.02 0.02
PEESZ00X%m> mg, = - . 00 = 0.002 0.007]
[FEERLL mg, - = 20.00 = <0.001 <o4m|
FILLTILTEF mg, - - <0. 008 - <0.008[ <0.008
E mg - - . 0 - .01 . 0
FIVEZTL mg, 0. 20 F| - = . 0; - . 02 . 0
mg, 0.3L( <0.01 X1} .01 0.0
mg, 1LF - .0 X <0.0
mg, 2005 — 0. 0.
mg, 0,051 <0.005 . 00 <0. 00!
mg/ 200L(F 1. T3.
mg, 30011 - 24,
ng 5005 F] - 9.
mg, 0. 20 F = <0.02
mg, 000001 0000002 0000003
mg/ 0.00001L4 | <0.000001 <0.000001
mg, 0. 02 <0.002
mg, 00054 F| <0.0005 <0.0005
mg, e 0.7 X X X X 0.
5 BLLEB. 6T 6.8 . 6.8 X 6.8 6.9
BERECBLT -
BRI E 3
E S <1 < 1 <1 <1 <1 <1 <1 <1 <1 <1
I 20T 0.1 <0, <01 1 X <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
mg, 001511 - 0.00 - - = 0. 001 - - - 0. 001 - - 0.00 0. 001 0. 001
mg/ 000214 F| —[_<0.000. - - - <0.0002 = - - <0.0002 = - <0.0002]<0.0002] <0.0002|
mg, 001X = <0.00 - - = <0.001 = - - 0.001 = = <0.001 <0.001 0.001
mg/ 005X F = <0.00! - - = <0.005 = - - 0. 005 - - <0.005 <0.005 0. 003)
g, 0. 0041 F| —[__<0.000 - - -~ <0.0004 = - - <0.0004 = - <0.0004] __<0.0004] __<0.0004]
mg, 210 = 0.0 - - = <0.04 = - - 0.04 = - 0.04 <0.04 <0.04)
mg/ T -] - - - -] -] -] - - - - -] -] - -
mg, - - - - - - - - - - - - - - -]
mg/ i -] - - - -] -] -] - - - - -] -] - -
g, 0. 01T = <0.00 - - = 0.001 = - - <0001 = - 0.001 <0.00 <0.001
mg, 0.0 - <0.00; - - - 0.003 - - - <0.002 - - 0.003 <0.00: <0.002
mg/ e 0.7 0. 0.5 0.7 0.6 0. 0.7 0.7 0.7 0.7 0.7 0.7 X X X
mg, TOLLE 1001 - 18, - 14.6 - 2. - 7.7 - 24.1 - 21.9) 24.1 14, 19.8
mg/ 0. 01T <0.005 <0.005 <0.005 <0.005 <0.005 <0.00 <0.005 <0.005 <0005 <0.005 <0005 <0.005 <0.005 <0.00! <0.005
i g, 2011 - 5.3 - - - 5 - - - 7.0 - - 7.0 5. 5.9
B, 1-FJ 70018y mg, 0.3L( = <0.03] - - = 0.03 = - - 0.03 = - <0.03 <003 <0.03)
B[ XF)V-t-7 F/VT—7)U (HIBE) mg, 002X F - <0.002 - - - <0.002 - - - <0.002 - - <0.002 <0.002 <0.002
B|EEmE ) ma/ g_tz“ - - - - - - - - - - - - - - |
ng - - - - - - - - - - - - = - -|
m MD(TZOOQ(" - 67 = 72 = 9 = 61 = 85 = 62 9: 6 73|
i 1L 0.1 <0. 0.1 <0.1 0.1 <0. 0.1 <0.1 0.1 0.1 0.1 0.1 <0. <0. <0.1
7512 6.9 6. 6.9 6.8 6.8 6. 6.9 6.8 6.8 6.8 6.8 6.8 6. 6. 6.8
ma/ | 1R 28 EE LWl 1 3] - -2, - - - -2, - - - -3.2 - -~ -, -3, -2. 71
omT 200X F -] - - - - - - 0 - - 0
ma/T 0. 1L(F = 0.0 - = = 0.0 = - - <0.01 = — 0.0 0.0 <0.01
ma/[ 01L(F = <0.0 - 0.02 = 0.03 = 0.04 - <0.02 = 0.02 0.04 <0.0; <0.02)
mg/T - - - - - - - - - - - - - - -]
7195 n 9.8 92.4] T10.7 75.9 7.2 121.0 99.7 77.5 97.3 105.0 T15.8 100.5, 121.0 75.9 97.7]
kq
o)
it
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2070/0412 [ 2010705, 10 1 2010/06707 [ 2010707715 [ 2010,087021 T 2070/T1 011 2010/12706 | 2011701/ 11 T 2011702707 201703715 1 =
n E‘ It B LGS ﬂgﬂ ﬁ! L) BEE fﬁ! Eﬁgﬁ
T 18.0 23.0 30.0 29.0 21.0 8.0 0.0 6.0 12.0
“C 17.0 20.0 26.0 20.0 2.0 2.0 6.0 7.0 11.0
g 0001 - - - - - 0.0002 - 00002 - - = 0
ng 0. 003X = - - = =|_<0.00001 —[<0.00001 - - - <0.
mg, 0. 0210 - - - = = <0. 00002 - <0. 00002 - = = <0.
ng . 0025 <0.0001 = - —|__<0.0001 = - —[__<0.0001 = -
ng X o_ﬁos 5 - = = = = 0000 = 00001 - = =
ng . 005 - - - = = . 0000 - 00002 - = =
ng . 003L = = = = = 0000 = 0000 = = -
mq, 0.3(F - - - = = 0000 - . 0000 - = =
ng 0. 055! - = - = = . 0000 - 0000 = = -
s ng 0. 05L = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 - - - = = . 0000 - 0000 - = =
07z (CNP mg. 0. 0001 F - - - - = 0. 000 - 0. 000 - - -
ng 0.0005% - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L = = = = —[_<0.0000" = 0000 = = -
ng 0.004% - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 —[<0.000002 - - - <0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng 0. 03% <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001L <0.00003 - - - = =[__<0.00003 =[<0.00003 - - - <0.
mg 0. 003% <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng oﬁ)z > 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LLF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055 F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 - - - = —[_<0.0000 —[<0.0000 - - - <. . .
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L K| <0. 0000 - - - = —[_<0. 0000 =[_<0.0000 - - - <0. 00005 _<0. 00005] _<0. 0000:
mg, 0. . <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X .
mg/ 0. 009L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011X 0,000 - - - = = 0.000 - 0,000 - = -
~ 3 m/ 0 1L(F|<0.0000 = = - = = . 0000 = . 0000 = = -
NP2 SER) ng 0. 08I <0.0000 - - - = = . 0000 - . 0000 - - -
R T XET> ng 0 1L(F|__<0.0000 - - - = = . 0000 - 0000 - - -
e[ X T 701 7 (MCPP) ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
) EEA EIN=2 ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
EFZ o0 mg/ 0. 01LLF|<0.00002 = = - = = 00002 = 00002 = = -
B[A7L7X7 10 (NAC) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
$,||17471/T7\(1/ T175%, EDDP) ___ma/ 0. 006 | <0.00005 - - - - - 00005 - . 0000 - - -
[H=ET=p7 ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = . 0000 - . 0000 - = -
II)Ozft / |~ mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
'ﬁ" L75 ng 0.04 <0.0000 B B - = = . 0000 B . 0000 B = -
4v7u73;»7<mwc) ng/ 0. 01L(F|[_<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v ng 0.3L( | <0.00005 = = - - - 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
X ?a%t/(_mp mg/ 0. 0045 <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
ng/ 01F 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 = <0.0000 - - -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(F | <0. 0000 - - - - —[_<0.0000' =[<0.0000 - - -
ng 015X <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mg/ 08 F <0.00 - - - - - <0.00 - <0.00 - - -
ng . 01L( | <0.0000 = = - - —[_<0.0000 =[<0.0000 - - -
ng 051 <0.0000 - - - = = _<0.0000" —[_<0.0000" - = -
57y mg/ 0. 005 T <0.00 - - - = = <0.00 - <0.00 - - -
S5 (00 ng 0. 0211 <0.000 B B - = = 0.000 B 0. 000 B = -
TUFALT 7Y ng 0. 01L(F|_<0.0000 - - - - =[_<0.0000" =[<0.0000 - - -
TFror 095X ng 0. 0BL( || <0.00005 B = - - =[_<0.00005 =[<0.00005 - - -
PESZZ A1) ng 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TURT—F mg/ 20T [ <0.000 - - - = = 0. 000 - 0,000 - - -
KD (EizP) ng 0551 <0.0000 B B - = = 0000 B 0000 B - -
VL ng 030 <0.0000 - - - = = 0000 - 0000 - = -
ng . 02L( | <0.00002 = = - = = 00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0.000004 —[<0. 000004 - - - <
ng . 3L <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 0031 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 0. 0211 <0.0000 B B - = = . 0000 B 0000 B = -
mg 0. 0041/ F[__<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.051Y 0.000 = = - = = 0.000 = 0.000 = = -
TATOAILT ng [OES <0.000 - - - = —[_<0.000 - 0,000 - = -
FALOY mg 0.81( <0. 0000 - - - - = _<0.0000 =[_<0.0000 - - -
E71/9y0X ng 0. 25X <0.000 B B - = = 0.000 B 0.000 B = -
NY RO XFIV mq 0. 4L{F|__<0.0000 - - - - —[_<0.0000 - 0000 - - - <0, 00001 ]
FIS 5590 ng 0. 0BL( || _<0. 000002 = = - - =] <0.000002 =[<0.000002 - - - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 0. Q21 <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
EDP AN ng 0,55 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
FEFIL ng 2LL <0.02 = - - - - <0.02 - <0.02 - - - <0.02
FUA—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=P31%ds] /x FIU mg 0,311 <0, 00005 - - - = =] _<0.00005 =[_<0.00005 - - - <0, 00005
7597 ng 0. 03L( F||_<0. 000002 B B - = —|_<0. 000002 —[<0.000002 B - - <0. 00000;
9’-7J'~/NI/7 ng 008X <0.00005 - - - = = __<0.00005 —[_<0.00005 - = - <0.00005
JOEaFI—IU ng 0,055 0. 000 = = - = = 0.0002 = 0. 0002 = = - 0. 0002
DeaEspZ ng 031 <0.0000 - - - = = . 00002 - 00002 - - - . 00002
EJTnEy 7y ng 0,351 <0.0000 - - - = = 0000 - 0000 - - - <0.0000
FUTNS U ng 0. 0651 <0.0000 B B - = = . 0000 B 0000 B - - 0000
F7VARO-L mg 0. 0081 0000 - - - = = 0000 - 0000 - = - 00001
Z70-)0 ng 0. 0005LT | <0.00000 - - - = —[<0.00000 —[<0.00000" - = = <0. 000005




